
PK192   06072020

DOOR HARDWARE INSTALLATION INSTRUCTIONS SINGLE CYLINDER DEADBOLT

NOTE: Deadbolts fi t doors 1-3/4” to 2” thick. For thicker doors, please contact  Customer Support.

G #11

#13

#3

#12

Door
Stop

Door 
Jamb

Install Jamb
Strike Plate

#10

F
Inside 
of Door

Thumbturn
Assembly

5/8”
rews

9 )

Attach

Screws.

Door Inside

Thumbturn
Assembly
with Included

Machine Sc
(Part #

Outside Assembly (Part #’s 4, 5A & 5B )

Deadbolt 
Adaptor Plate
(Part #6 )

2-3/8”
Machine Screws
(Part #7 )

2) Attach Deadbolt Adapter
Plate With Included Screws

1) Place Outside
Assembly on
Door Outside

Door Outside

E

D Tailpiece must be 
VERTICAL during 
installation.

! #4

#5A

#5B

Install
Cylinder
Into
Outside
Plate

#5A5A

Deadbolt Tongue must
be EXTENDED during 
installation.

Deadbolt Latch

!Edge Bore
Hole

Deadbolt Latch Tongue NoteC

B
For 2-3/8” Backset

3-1/2”
2-3/8”

3-3/4”
2-3/4”

Cross Bore
Hole - 
2-1/8”
Diameter

For 2-3/4” Backset
Door Thickness

Centerline

Edge Bore
Hole - 1”
Diameter

Faceplate
Mortise Area

For 2-3/8” Backset
3-1/2”

2-3/8”

3-3/4”
2-3/4”

Cross Bore
Hole - 
2-1/8”
Diameter

For 2-3/4” Backset
Door Thickness

1-3/4” to 2”

Centerline

Edge Bore
Hole - 1”
Diameter

Faceplate
Mortise Area

A
USE INCLUDED PREPARATION
TEMPLATE FOR NON-PREPPED DOORS

Face of Door

Edge
of
Door

Centerline



DOOR HARDWARE INSTALLATION INSTRUCTIONS SINGLE CYLINDER DEADBOLT

NOTE: Deadbolts fit doors 1-3/4” to 2” thick. For thicker doors, please contact  Customer Support.

Part Part
# Description 
1   Latch 
2    Latch Faceplate
3    Latch & Strike Wood Screws (4)
4 Cylinder Body
4A Tailpiece
5A    Spin Ring
5B    Outside Escutcheon
6    Deadbolt Adapter Plate
7    2-3/8” Machine Screws (2)
8    Thumbturn Assembly
9  5/8” Thumbturn Machine Screws (2)
10  Dust Box
11 Door Frame Reinforcer
12 3” Reinforcer Wood Screws (2)
13 Strike Plate

Single Cylinder Deadbolt Exploded Parts Drawing

Single Cylinder DeadboltDoor Hardware 
Installation Instructions

Page 2 – PK147    01182020

SINGLE CYLINDER DEADBOLT EXPLODED PARTS DRAWING

PK192   06072020


